Answers to multiplication & division rugby word problems

1) 140 tries (5 x 140 = 700 points)

2) 495 points (99 x 5 = 495)

3) 109 conversions (218 = 2 = 109)

4) 123 penalties (369 = 3 = 123)

5) 96 penalties (288 + 3 = 96)

6) 144 conversions (77 x 2 = 144)

7) 151 conversions (1302 - 1000 = 302 & 302 = 2 = 151)
8) 82 conversions (160 x 5 = 800 leaving 164 + 2 = 82)

9) 30 points from penalties and conversions. The different
combinations could be:

10 penalties
8 penalties & 3 conversions
6 penalties & 6 conversions

4 penalties & 9 conversions
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